
S1  

Supporting Information 
 
 
 

Efficient Calculation of Molecular Properties 
from Simulation using Kernel Molecular 

Dynamics 
 

W. Michael Brown,*,1 Ariella Sasson,2 Donald R. Bellew,3 Lucy A. Hunsaker,4 
Shawn Martin,1 Andrei Leitao,4 Lorraine M. Deck,3 David L. Vander Jagt,4 and 

Tudor I. Oprea4 
 

 
 
 
 
Table of Contents 
 
Table 1. Structures, activities, and some IC50’s for resveratrol analogues…………………S2 
Table 2. Structures and the resulting activities for the candidate resveratrol analogues….S12 
Table 3. PubChem Compound IDs and Structures for inactive compounds used in additional 
models generated for the formylpeptide receptor assay …………………………………..S14 
Experimental Data. Synthesis and verification of resveratrol analogues………………...S19 



S2  

Table 1. Structures, activities, and some IC50’s for resveratrol analogues. Activity is measured as 
percent inhibition of TNF-α induced activation of NF-κB at a 15µM concentration using the 
Panomics NF-κB stable reporter cell line 293/ NF-κB-luc. Compounds used for kMD training 
are marked as active/inactive. 
         

Analogue # 
 

Structure 
NFκB 

% of Control 
(15 µM) 

NFκB 
IC50 (µM) 
± SD 

kMD Training 

Resveratrol OH

HO

OH

 
58.2 20 ± 2.9 Active 

1 
OCH3

OCH3
 

86.5  Inactive 

2 
OCH3

 
18.5   

3 
Cl

 
19.3   

4 
CH3

 
13.1  Active 

5 
C

N

 
55.1   

6 
OCH3

OCH3
 

63.9   

7 
H3CO

OCH3  
75.6   

8 Cl
 

26.4   

9 CH3

 
24.5   

10 
Cl

 
31.7   

11 
OCH2CH3

 
6.0 0.33 ± 0.03 Active 

12 
OH

 
45.6   

13 
F

 
34.3   

14 
F

 
45.2   



S3  

15 
H3CO

OCH3

 
38.1   

16 
F

 
41.1   

17 
OH

OCH3

 
78.1  Inactive 

18 
OCH3

 
26.6   

19 
OCH3

OH
 

9.4  Active 

20 OH
 

19.1   

21 
H3CO OCH3

 
10.7  Active 

22 
H3C

 
54.8   

23 
CF3

 
67.3   

24 
CF3

 
19.7   

25 
H3CO

OCH3
 

84.3  Inactive 

26 
F3C

 
152.4  Inactive 

27 
N

 
80.1  Inactive 

28 
H3C CH3

CH3  
74.3   

29 
N

 
75.1   

30 
N

 
84.0  Inactive 

31 S
 

76.1   

32 
H3CO

 
28.0   

33 
OH

OH

 
15.3  Active 



S4  

34 
N(CH3)2

 
3.1 0.15 ± 0.07 Active 

35 
 

7.7 1.34 ± 0.3 Active 

36 
 

23.7   

37 
Cl

Cl  
69.2   

38 
H3CO

H3CO

 
52.0   

39 
H3CO

OCH3

 
6.1 0.47 ± 0.14 Active 

40 
H3CO

OCH3

 
27.2   

41 
H3CO

H3CO OCH3

 
33.4   

42 
H3CO

OCH3

OCH3

 
62.6   

43 
H3CO

CH3

 
6.8 0.83 ± 0.2 Active 

44 
H3CO

OCH3

OCH3

 

19.0   

45 
H3CO

Cl

 
25.6   

46 
H3CO

OCH2CH3

 

69.4   

47 
H3CO

H3CO

OCH3

 

16.6   

48 
H3CO

S

 
17.0   



S5  

49 
H3CO

F3C

 
27.3   

50 
H3CO

F

 
5.2 0.15 ± 0.1 Active 

51 
H3CO

F

 
6.0 1.34 ± 0.3 Active 

52 
H3CO

F

 
15.5  Active 

53 
H3CO

H3CO

OCH3

 
67.7   

54 
H3CO

H3CO

OCH3 
69.4   

55 
H3CO

N

 
19.7   

56 
H3CO

Cl

Cl  
44.8   

57 
H3CO  

39.3   

58 
H3CO  

35.7   

59 
H3CO

H3C

CH3

CH3

 
50.9   

60 
H3CO

CN

 
31.4   

61 
H3CO

HO
OH

 

10.9 0.53 ± 0.3 Active 

62 
H3CO

OH
OH

8.7 0.64 ± 0.4 Active 

63 
H3CO

OCH3

OCH3
H3CH2C

 
43.0   



S6  

64 
H3CO

Cl

 
5.8 1.0 ± 0.07 Active 

65 
H3CO

CH3

 
9.2 0.9 ± 0.1 Active 

66 
H3CO

Br

 
40.8   

67 
H3CO

OCH3

OCH3
H3CO

 
70.3   

68 
H3CO

OCH3

OCH3

OCH3

 
43.2   

69 
H3CO

OCH3
H3CO

OCH3

 
67.2   

70 
Cl

H3CO  
6.1 1.5 ± 0.03 Active 

71 
OCH3

H3CO
OCH3

 
50.3   

72 
OCH3

OCH3

OCH3

 
49.4   

73 

Br

H3CO  
15.4 ± 0.4  Active 

74 
N

H3CO  
49.1   

75 

OCH3

OCH3
H3CH2C

 
96.2  Inactive 

76 
OCH3

H3CO

OCH3

 
70.5 ± 0.4   

77 
OCH3

H3CO

OCH3  
97.0 ± 14  Inactive 

78 
Br

 
21.0 ± 6.6   



S7  

79 Br
 

47.9 ± 1.2   

80 
OCF3

 
16.8 ± 1.6   

81 
OCF3

H3CO  
66.5 ± 7.3   

82 

OH

H3CO  
35.6 ± 3.7   

83 
OH

H3CO

OCH3

 
38.9 ± 2.2   

84 
H3CO

OCH3

OH

 
32.3 ± 6.5   

85 
H3C

OCH3

OCH3

 
25.7 ± 1.8   

86 

OCH3

OCH3

H3C  

56.1 ± 1.5   

87 
H3CO OCH3

H3C  
45.1 ± 7.3   

88 
H3CO

OCH3

H3C  
108 ± 5.1  Inactive 

89 
H3C

N(CH3)2

 
13.1 ± 2.2  Active 

90 
H3C

OH

 
29.0 ± 2.8   

91 
O

H3CO  
55.4 ± 1.1   

92 
O

 
101± 5.5  Inactive 

93 
H3C

OCH3

 
10.2 ± 0.3  Active 



S8  

94 
OCH3H3C  

38.5 ± 2.4   

95 
H3C

F

 
20.4 ± 2.2   

96 
H3C

F

 
10.5 ± 0.9  Active 

97 
H3C

F  
6.8 ± 1.1  Active 

98 
H3C

Cl

 
48.4 ± 17   

99 
H3C

Cl

 
21.6 ± 0.5   

100 
H3C

Cl  
59.1 ± 5.3   

101 
H3C

CF3

 
73.2 ± 20   

102 
H3C

CF3

 
24.7 ± 2.8   

103 
H3C

CH3

 
24.7 ± 2.8   

104 
H3C

CH3

 
11.8 ± 0.6  Active 

105 
H3C

CH3 
16.6 ± 1.2   

106 
H3C

OCH2CH2CH3

 
55 ± 0.04   

107 
OCH2CH2CH3

 
12.6 ± 1.6  Active 

108 
H3CO

OCH2CH2CH3

 
63.6 ± 23   

109 
H3C

Br

 
23.0 ± 1.8   



S9  

110 
H3C

Br

 
72.3 ± 9.8   

111 
N(CH2CH3)2

 
16.7 ± 1.6   

112 
H3C

N(CH2CH3)2

 
93.8 ± 34  Inactive 

113 
H3C OCH3

OCH3

OCH3

 
53.8 ± 1.2   

114 
H3C

OCH3
OCH3

OCH3

 
68.6 ± 13   

115 

OCH3
OCH3

OCH3H3C  
68.3 ± 2.4   

116 
H3C  

57.1 ± 0.5   

117 
H3C  

49.8 ± 0.1   

118 
H3C

O

 
45.8 ± 5.2   

119 
H3C

S

 
34.1 ± 4.7   

120 
H3C

CN

 
52.6 ± .44   

121 
N

H3C  
48.1 ± 1.8   

122 
N

H3C  
21.1 ± 2.6   

123 
H3C

H3C

CH3

CH3

 
76.1 ± 5.7  Inactive 

124 
H3C

H3CO

OCH3  
110 ± 9.1  Inactive 

125 
H3C

OCH3

 
101 ± 4.6  Inactive 



S10  

126 
OCH3

F

 
75.7 ± 7.2   

127 
N(CH3)2

OCH3  
3.5 ± 0.03 0.07 Active 

128 
H3CO

O

 
51.2 ± 15   

129 
CF3

 
141 ± 28  Inactive 

130 
H3CO

OCH3

O OCH3

 
116 ± 13  Inactive 

131 
OCH3

OCH3

O  
107 ± 23  Inactive 

132 
H3C

CF3

 
89.7 ± 6.4  Inactive 

133 N

O

H  
95.9 ± 13  Inactive 

134 N

ClO

H  
83.8 ± 1.1  Inactive 

135 N

CH3O

H  
108 ± 9.3  Inactive 

136 
H3C

O

 
110 ± 17  Inactive 

137 N

OCH3O

H  
124 ± 3.3  Inactive 

138 
Cl

O

 
105 ± 11  Inactive 

139 
Br

O  
121 ± 1.2  Inactive 

140 N

O

CH3H  
124 ± 1.2  Inactive 

141 
O

HO  
99 ± 25  Inactive 

142 
O

H3C

HO  
101 ± 5.4  Inactive 



S11  

143 
H3CO

F

 
99.8 ± 23  Inactive 

144 
F

OCH3

 
23.1 ± 5.5   

145 
H3C

OCH3

OCH3H3CO

 
66.8 ± 7.8   

146 F
OCH3

 
27.8 ± 0.5   

147 H3CO
OCH3

 
7.5 ± 0.8  Active 

148 
CH(CH3)2

H3CO

 
3.8 ± 0.3 1.0 Active 

149 OCH3

 25.6 ± 0.4   

150 OCH3  17.6 ± 2.5   

151 OCH3H3CO  31.2 ± 4.1   

152 H3CO
OCH3  

34.9 ± 9.2   

153 
H3CO

OCH3

OCH3

 
23.1 ± 3.8   

154 H3CO
OCH3

OCH3

 
41.1 ± 3.1   

155 H3CO

H3CO OCH3

 
26.2 ± 3.0   

156 H3CO

OCH2CH3

 
12.8 ± 0.9  Active 

157 H3CO
CH3

 
25.3 ± 1.8   

158 F

 46.5 ± 9.9   

159 F

H3CO  
14.4 ± 0.1  Active 

160 F 59.8 ± 17.1   

161 H3CO

H3CO

 
48.1 ± 8.1   

162 
F

 
84.3 ± 2.9  Inactive 

 



S12  

Table 2. Structures and the resulting activities for the candidate resveratrol analogues.  
 
 

Analogue # Structure % of Control (15 µM) 

163 H3CO

H3CO
OCH3

 
56 

164 H3CO

CF3

 
13 ± 0.7 

165 
H3CO

OCH3

OCH3

OCH3

 

39 ± 14 

166 H3CO
OCH3

OCH3  
17 ± 1.8 

167 O

OCH3

O  
4.5 ± 0.7 

168 
O
O

OCH3

OCH3  
3.4 ± 0.07 

169 
Br

OCH3

H3CO

 
74 ± 6.1 

170 CF3

OCH3

OCH3

 
43 ± 5.6 

171 
H3CO

Br

 
57 ± 8.7 

172 
H3CO Br  

71 ± 10 

173 
F3C  

67 ± 8.0 

174 
Br

OCH3

H3CO

H3CO  
71 ± 12 



S13  

175 Br

OCH3

OCH3  

97 ± 13 

176 
CF3  

102 ± 2,8 

177 
CF3 OCH3  

67 ± 0.8 

178 O2N

OCH3

 
16 ± 4.0 

179 
OCH3

O2N  
21 ± 1.5 

180 
OCH3

CF3  
28 ± 2.5 

181 O2N

 
55 ± 4.2 

182 
O2N  

40 ± 0.2 

183 O2N

CH3

 

14 ± 0.3 

184 
O2N

CH3

 

12 ± 0.9 

185 
CH3

Cl

Cl

 

57 ± 8.9 

186 
CH3

NO2  

15 ± 4.8 

 
 
 
 



S14  

Table 3. PubChem Compound IDs and Structures for inactive compounds used in additional 
models generated for the formylpeptide receptor assay. 
 

Group PubChem CID Structure 

Group 1 2913415 H
N

O

O

OH

NH

O

O

HO

 

Group 1 645431 

N
H

O

N

NN

N

O

N

 

Group 1 1263280 O

O

N

N

H2N  

Group 1 5308358 
NO

O

N
H

O O  

Group 1 660718 

OH

OH

 

Group 1 6603372 
O

O

S

N
N

OH  

Group 1 814775 
O

NHN

 

Group 1 123664 
NH

O
N
H

O

O

O

OH

 

Group 1 2610597 H
N

O

S

N

N
H

O

 



S15  

Group 1 661116 
O

N

N

NN

H
N

O
O

 

Group 1 665413 

NO

N

O

HN

O

 

Group 1 771481 
O

N
H

O

N

 

Group 1 3241679 
HN

O

O

N

N  

Group 1 866899 

N
NH

S
O

ONHO

O  

Group 1 265941 NN
O

NO O

N O

 

Group 1 3237546 N
O

O

H
N

 

Group 1 1266316 HN

O
N

N

N NS

 



S16  

Group 2 2571603 
N

N

O

O O O

OCl

Cl

 

Group 2 1972861 ON
O

N

S

N

 

Group 2 659582 

O

O

NH

O

SN
N

N
NH2

F
F

F

 

Group 2 4559027 

S

O
N

N
S

O

HN O

O

F

 

Group 2 5389543 
N

O
NH

O
NH

O

 

Group 2 2905400 
N

O

S
N N

O

 

Group 2 664508 

N
N

N

N

S
O

O

O  



S17  

Group 2 607541 
N
H

O

 

Group 2 2084150 
N N

NN
NH

O

S

O

 

Group 2 4246341 N
N

N
N

S

O

N

O

O

 

Group 2 2053119 

N

O
S O

O

N
F

 

Group 2 449094 

O

NH

O

N

N

N
H

 

Group 2 2914913 

O

NH

O
HO

O

O

O

 

Group 2 2997534 

N

N

N

O

N
O

N

O

 

Group 2 657533 
N
H

O

H
N

O

HO

 



S18  

Group 2 3000030 N

N

O

N

O N

O

NH
O

O

 

Group 2 3243577 

O

N

O N

N

O

Cl 
 
 
 



S19  

Experimental Data. Synthesis and verification resveratrol analogues. 
 
All reagents were obtained from commercial sources and used without further purification. All 
compounds that were isolated were greater than 90% pure by 1H and/or 13C NMR. Column 
chromatographic separations were performed using EM Science type 60 silica gel (230-400 
mesh). Preparative thin layer chromatography was performed using Analtech silica gel gf 2000 
micron plates. Melting points were determined on a Thomas Hoover capillary melting point 
apparatus and are uncorrected. NMR spectra were recorded on a Bruker AC250 (250 MHz) 
NMR spectrometer in CDCl3 unless otherwise noted. Chemical shifts are reported in ppm (δ) 
relative to CHCl3 at 7.24 ppm for 1H NMR and 77.0 for 13C NMR. High resolution mass spectra 
were performed at the Mass Spectrometry Facility, University of New Mexico. 
 
Compounds 1-73 were previously reported by Heynekamp et al.1 Compounds 74-124, 126-127, 
144-148, 153-157, 161, 163-167, 178-186 were synthesized using the method described by 
Heynekamp et al.1 Compounds 128, 130-131, 136, 138-139, 141-142 were synthesized using a 
method described by Chhor2 and Lubczyk.3 Compounds 125, 129, 132, 134-135, 137, 140, 143 
were synthesized by methods described by Cushman.4 Compounds 149-152, 158-160, 162, 168, 
170-173, 176-177 were synthesized using the method described by Bellucci et al.5 Compounds 
169, 174 and 175 were synthesized using the method described by Harrovwen et al.6 
 
(E)-4’-Methoxy-3-stilbazole (74). mp 98-100 °C [lit10 99-100 °C]. 
(E)-2-Ethyl-3,4-dimethoxystilbene (75). mp 92-93 °C; 1H NMR: δ 1.19 (t, 3H, J = 7.75 Hz), 2.82 
(q, 2H, J = 7.55 Hz), 3.84 (s, 3H), 3.88 (s, 3H), 6.79 (d, 1H, J = 8.54 Hz), 6.80 (d, 1H, J = 16.28 
Hz), 7.28 (d, 1H, J = 16.09 Hz), 7.35 (m, 3H), 7.50 (d, 2H, J = 7.15 Hz). Exact mass calcd for 
C18 H20O2: 268.1463, observed (M+H) 269.1543. 
(E)-2,4,5-Trimethoxystilbene (76). mp 83-84 °C [lit4 81-82 °C]. 
(E)-2,4,6-Trimethoxystilbene (77). mp 59 °C [lit4 57-59 °C]. 
(E)-4-Bromostilbene (78). mp 138-139 °C [lit15 133-134 °C]. 
(E)-3-Bromostilbene (79). mp 90-90.5 °C [lit16 87-89 °C]. 
(E)-4-Trifluoromethoxystilbene (80). mp  110-111 °C; 1H NMR: δ 7.07 (s, 2H), 7.17-7.38 (m, 
3H), 7.48-7.53 (m, 6H). Exact mass calcd for C15H11F3O: 264.0762, observed (M+) 264.0766. 
(E)-4-Trifluoromethoxy-4’-methoxystilbene (81). mp  147-148 °C; 1H NMR: δ 3.82 (s, 3H), 6.90 
(d, 2H, J = 8.74 Hz), 6.92 (d, 1H, J = 16.48 Hz), 7.00 (d, 1H, J = 16.09 Hz), 7.16 (d, 2H, J = 8.14 
Hz), 7.43 (d, 2H, J = 9.33 Hz), 7.47 (d, 2H, J = 9.14 Hz). Exact mass calcd for C16 H13F3O2: 
294.0868, observed (M+) 294.0871. 
(E)-3-Hydroxy-4’-methoxystilbene (82). mp 160-162 °C [lit11 159-160 °C]. 
(E)-4-Hydroxy-3-methoxy-4’-methoxystilbene (83). mp 163-164 °C [lit18 163-166 °C]. 
(E)-3-Hydroxy-4-methoxy-4’-methoxystilbene (84). mp 201-202 °C [lit19 192-193 °C]. 
(E)-3,5-Dimethoxy-4’-methylstilbene (85). mp 62-63 °C [lit20 51 °C]. 
(E)-3,4-Dimethoxy-4’-methylstilbene (86). mp  165-166 °C [lit20 168 °C]. 
(E)-2,4-Dimethoxy-4’-methylstilbene (87). mp  72-73°C; 1H NMR: δ 2.33 (s, 3H), 3.79 (s, 3H), 
3.83 (s, 3H), 6.45 (m, 3H), 6.95 (d, 1H, J = 16.49 Hz), 7.12 (d, 2H, J = 7.95 Hz), 7.34 (d, 1H, J = 
16.49 Hz), 7.39 (d, 1H, J = 7.94 Hz), 7.47 (d, 1H, J = 8.35 Hz). Exact mass calcd for C17H18O2: 
254.1307, observed (M+) 254.1314. 
(E)-2,5-Dimethoxy-4’-methylstilbene (88). mp 80-81 °C [lit21 78 °C]. 



S20  

(E)- 4-N,N-Dimethylamino-4’-methylstilbene (89). mp 164-165 °C [lit22 163-165 °C]. 
(E)-4-Hydroxy-4’-methylstilbene (90). mp 212-213 °C [lit15 210-212 °C]. 
(E)-2-(4-Methoxylstyryl)furan (91). mp 73-74 °C [lit23 73-74 °C]. 
(E)-2-Styrylfuran (92). Mp 54-55° C [lit24 54-55 °C]. 
(E)-3-Methoxy-4’-methylstilbene (93). mp 77-78 °C [lit25 76 °C]. 
(E)-2-Methoxy-4’-methylstilbene (94). mp 78-79 °C [lit25  80 °C]. 
(E)-4-Fluoro-4’-methylstilbene (95). mp 157-158 °C [lit26 157.5-159 °C]. 
(E)-3-Fluoro-4’-methylstilbene (96). mp 104-105 °C [lit27 106 °C]. 
(E)-2-Fluoro-4’-methylstilbene (97). mp 77-78 °C [lit27 75 °C]. 
(E)-4-Chloro-4’-methylstilbene (98). mp 201-203 °C [lit15 206-207 °C]. 
(E)-3-Chloro-4’-methylstilbene (99). mp  117-118 °C [lit25 116 °C]. 
(E)-2-Chloro-4’-methylstilbene (100). mp 35-37 °C [lit25 36-39 °C]. 
(E)-4-Trifluoromethyl-4’-methylstilbene (101). mp 187-188 °C [lit28 187-189 °C]. 
(E)-3-Trifluoromethyl-4’-methylstilbene (102). mp  94-95 °C; 1H NMR: δ 2.36 (s, 3H), 7.04 (d, 
1H, J = 16.49 Hz), 7.15 (d, 1H, J = 16.08 Hz), 7.17 (d, 2H, J = 7.94 Hz), 7.41 (d, 2H, J = 8.14 
Hz), 7.44 (t, 1H, J = 8.34 Hz), 7.45 (d, 1H, J = 8.34 Hz), 7.64 (d, 1H, J = 6.75 Hz), 7.73 (s, 1H). 
Exact mass calcd for C16H13F3: 262.0969, observed (M+) 262.0978. 
(E)-4-Methyl-4’-methylstilbene (103). mp 178-180 °C [lit15 182-184 °C].   
(E)-3-Methyl-4’-methylstilbene (104). mp 100-101 °C [lit14 101-102 °C].   
(E)-2-Methyl-4’-methylstilbene (105). mp 50-51 °C [lit30 49-51 °C]. 
(E)-4-Methyl-4’-propoxystilbene (106). mp 150-151 °C; 1H NMR: δ 1.04 (t, 3H, J = 7.35 Hz), 
1.81 (sex, 2H, J = 7.15 Hz), 2.35 (s, 3H), 3.93 (t, 2H, J = 6.56 Hz), 6.87 (d, 1H, J = 8.54 Hz), 
6.93 (d, 1H, J = 16.08 Hz), 6.97 (d, 1H, J = 6.76 Hz), 7.03 (d, 1H, J = 15.89 Hz), 7.14 (d, 2H, J = 
7.94 Hz), 7.38 (d, 2H, J = 9.53 Hz), 7.42 (d, 2H, J = 8.94 Hz). Exact mass calcd for C18 H20O: 
252.1514, observed (M+) 252.1522. 
(E)-4-Propoxystilbene (107). mp 126-128 °C [lit31]; 1H NMR: δ 1.04 (t, 3H, J = 7.35 Hz), 1.81 
(sex, 2H, J = 7.15 Hz), 3.93 (t, 2H, J = 6.56 Hz), 6.88 (d, 2H, J = 8.54 Hz), 6.92 (d, 1H, J = 
15.90 Hz), 7.05 (d, 1H, J = 15.89 Hz), 7.23 (m, 1H), 7.31 (d, 1H, J = 7.75 Hz), 7.34 (d, 1H, J = 
7.15Hz), 7.43 (d, 2H, J = 8.74Hz), 7.47 (d, 2H, J = 7.75 Hz).  
(E)-4-Methoxy-4’-propoxystilbene (108). mp 177-178 °C [lit 32]; 1H NMR: δ 1.04 (t, 3H, J = 
7.15 Hz), 1.81 (sex, 2H, J = 7.15 Hz), 3.82 (s, 3H), 3.93 (t, 2H, J = 6.77 Hz), 6.88 (d, 4H, J = 
7.35 Hz), 6.92 (s, 2H), 7.41 (dd, 4H, J = 8.74, 2.59 Hz).  
(E)-3-Bromo-4’-methylstilbene (109). mp  115-117 °C [lit33]; 1H NMR: δ 2.35 (s, 3H), 6.93 (d, 
1H, J = 16.49 Hz), 7.04 (d, 1H, J = 15.88 Hz), 7.15 (d, 2H, J = 8.14 Hz), 7.17 (t, 1H, J = 8.94 
Hz), 7.34 (d, 1H, J = 9.73 Hz), 7.37 (d, 3H, J = 7.94 Hz), 7.62 (s, 1H). 
(E)-4-Bromo-4’-methylstilbene (110). mp 213-214 °C [lit28 214-216 °C]. 
(E)-4-N,N-Dimethylaminostilbene (111). mp 96-97 °C [lit34 96 °C]. 
(E)-4-N,N-Diethylamino-4’-methylstilbene (112). mp 99-100 °C [lit 35]; 1H NMR: δ 1.17 (t, 6H, 
J = 6.95 Hz), 2.34 (s, 3H), 3.37 (q, 4H, J = 6.95 Hz), 6.65 (d, 2H, J = 8.74 Hz), 6.85 (d, 1H, J = 
16.88 Hz), 6.98 (d, 1H, J = 15.70 Hz), 7.12 (d, 2H, J = 7.95 Hz), 7.36 (d, 4H, J = 7.75 Hz). 
(E)-2,3,4-Trimethoxy-4’-methylstilbene (113). mp 109-110 °C; 1H NMR: δ 2.34 (s, 3H), 3.87 (s, 
3H), 3.89 (s, 3H), 6.68 (d, 1H, J = 8.74 Hz), 7.00 (d, 1H, J = 16.48 Hz), 7.14 (d, 2H, J = 7.94 
Hz), 7.27 (d, 1H, J = 16.88 Hz), 7.29 (d, 1H, J = 8.73 Hz), 7.40 (d, 2H, J = 8.14 Hz). Exact mass 
calcd for C18 H20O3: 284.1412, observed (M+H) 285.1492. 
(E)-3,4,5-Trimethoxy-4’-methylstilbene (114). mp 126-127 °C[lit36 125-127 °C]. 



S21  

(E)-2,4,5-Trimethoxy-4’-methylstilbene (115). mp 84-85 °C; 1H NMR: δ 2.34 (s, 3H), 3.85 (s, 
3H), 3.90 (s, 6H), 6.52 (s, 1H), 6.94 (d, 1H, J = 16.48 Hz), 7.12 (d, 3H, J = 9.73 Hz), 7.36 (d, 
1H, J = 16.29 Hz), 7.41 (d, 2H, J = 7.94 Hz). Exact mass calcd for C18 H20O3: 284.1412, 
observed (M+) 284.1422. 
(E)-1-(4-Methylstyryl)naphthalene (116). mp 92-94 °C [lit37 86-87 °C]. 
(E)-2-(4-Methylstyryl)naphthalene (117). mp 183-184 °C [lit38 189-190.5 °C]. 
(E)-4-Methylstyrylfuran (118). mp 74-75 °C [lit39];  1H NMR: δ 2.37 (s, 3H), 6.34 (d, 1H, J = 
3.18 Hz), 6.43 (m, 1H), 6.86 (d, 1H, J = 16.29 Hz), 7.04 (d, 1H, J = 15.89 Hz), 7.17 (d, 2H, J = 
7.95 Hz), 7.38 (d, 3H, J = 8.34 Hz). 
(E)-4-Methylstyrylthiophene (119). mp 116-117 °C [lit22 116 °C]. 
(E)-4-Cyano-4’-methylstilbene (120). mp 185-186 °C [lit25  182 °C]. 
(E)-4-Methyl-3-styrylpyridine (121). mp 109-110 °C [lit40 109.5-110 °C]. 
(E)-4-Methyl-2-styrylpyridine (122). mp 84-85 °C [lit40 84.5-85 °C]. 
(E)-4-Methyl-2’,4’,6’-trimethylstilbene (123). mp  48-50 °C [lit41];  1H NMR: δ 2.28 (s, 3H), 
2.33 (s, 6H), 2.36 (s, 3H), 6.54 (d, 1H, J = 16.68 Hz), 6.90 (s, 2H), 7.04 (d, 1H, J = 16.68 Hz), 
7.17 (d, 2H, J = 7.94 Hz), 7.39 (d, 2H, J = 7.95 Hz). 
 (E)-2,6-Dimethoxy-4’-methylstilbene (124). mp 55-56 °C; 1H NMR: δ 2.29 (s, 3H), 3.82 (s, 
6H), 6.52 (d, 2H, J = 8.54 Hz), 7.09 (m, 3H), 7.36 (d, 1H, J = 16.88 Hz), 7.38 (d, 2H, J = 6.75 
Hz), 7.51 (d, 1H, J = 16.69 Hz). Exact mass calcd for C17H18O2: 254.1307, observed (M+) 
254.1315. 
1-Methoxy-4-[2-(4-methylphenyl)ethyl]benzene (125). mp 59-60 °C [lit42 61-62.5 °C]. 
(E)-2-Fluoro-2’-methoxystilbene (126). mp 44-45 °C; 1H NMR: δ 3.73 (s, 3H), 7.28 (d, 1H, J = 
16.88 Hz), 7.54 (d, 1H, J = 16.68 Hz), 6.88-7.29 (m, 6H), 7.60-7.69 (m, 2H). Exact mass calcd 
for C15 H13FO: 228.0950, observed (M+) 228.0956. 
(E)-4-N,N-Dimethylamino-3’-methoxystilbene (127). mp 93-94 °C [lit43]; 1H NMR: δ 2.97 (s, 
6H), 3.83 (s, 3H), 6.70 (d, 2H, J = 8.94 Hz), 6.73 (dd, 1H, J = 8.94, 2.38 Hz), 6.87 (d, 1H, J = 
16.29 Hz), 7.00 (s, 1H), 7.04 (d, 1H, J = 15.94 Hz), 7.05 (d, 1H, J = 8.15 Hz), 7.23 (t, 1H, J = 
7.95 Hz), 7.39 (d, 2H, J = 8.93 Hz). 
1-(4-Methoxyphenyl)-2-phenylethanone (128). mp 76-77 °C [lit44 77 °C]. 
1-(4-Trifluoromethylphenyl)-2-phenylethane (129). mp 40-42 °C[lit45]. 
1-(4-Methoxyphenyl)-2-(3,4-dimethoxyphenyl)ethanone (130). mp 137-138 °C [lit46 139 °C]. 
1-(3,4-Dimethoxyphenyl)-2-phenylethanone (131). mp 88-90 °C [lit47 86-88 °C]. 
1-(3-Trifluoromethylphenyl)-2-(4-methylphenyl)ethane (132). oil; 1H NMR: δ 2.32 (s, 3H), 2.91 
(m, 4H), 7.04 (d, 2H, J = 8.34 Hz), 7.09 (d, 2H, J = 7.55 Hz), 7.30-7.45 (m, 4H). Exact mass 
calcd for C16H15F3: 264.1126, observed (M+H) 265.1100. 
N-Phenylbenzamide (133). mp 163-164 °C [lit48 164 °C]. 
N-(4-Chlorophenyl)benzamide (134). mp 193-194 °C [lit49 192-193 °C]. 
N-(4-Methylphenyl)benzamide (135). mp 157-158 °C [lit49 158-159 °C]. 
1-(4-Methylphenyl)-2-phenylethanone (136). mp 107-108 °C [lit 50 106-108 °C]. 
N-(4-Methoxyphenyl)benzamide (137). mp 157-158 °C [lit49 157-158 °C]. 
1-(4-Chlorophenyl)-2-phenylethanone (138). mp 104-105 °C [lit51 105-105.5 °C]. 
1-(4-Bromophenyl)-2-phenylethanone (139). mp 111-112 °C [lit52 112-113 °C]. 
N-(2-Methylphenyl)benzamide (140). mp 142-143 °C [lit53 142-143 °C]. 
1-(4-Hydroxyphenyl)-2-phenylethanone (141). mp 149-150 °C [lit 2 150 °C]. 
1-(3-Methylphenyl)-2-phenylethanone (142). mp 141-142 °C [lit 2 143 °C]. 



S22  

1-(2-Fluorophenyl)-2-(3-methoxyphenyl)ethane (143). mp 39-40°C; 1H NMR: δ 2.90 (m, 4H), 
3.76 (s, 3H), 6.72 (s, 1H), 6.73 (d, 1H, J = 6.95 Hz), 6.77 (d, 1H, J = 8.93Hz),  7.00 (t, 1H, J = 
8.35 Hz), 7.02 (d, 1H, J = 7.55 Hz), 7.12 (t, 1H, J = 7.15 Hz), 7.14 (d, 1H, J = 7.85 Hz), 7.19 (t, 
1H, J = 8.54 Hz). 
(E)-2-Fluoro-3’-methoxystilbene (144). oil; 1H NMR: δ 3.84 (s, 3H), 6.83 (dd, 1H, J = 2.58, 8.14 
Hz), 7.02-7.30 (m, 8H),  7.59 (t, 1H, J = 7.55 Hz). Exact mass calcd for C15H13FO: 228.0950, 
observed (M+) 228.0954. 
(E)-2,4,6-Trimethoxy-4’-methylstilbene (145). mp 99-100 °C; 1H NMR: δ 2.33 (s, 3H), 3.82 (s, 
3H), 3.87 (s, 6H), 6.16 (s, 2H), 7.10-7.30 (m, 2H), 7.36-7.42 (m, 4H). Exact mass calcd for 
C18H20O3: 284.1412, observed (M+) 284.1422. 
(E)-3-Fluoro-3’-methoxystilbene (146). oil; 1H NMR: δ 3.81 (s, 3H), 6.81 (dd, 1H, J = 8.14, 2.38 
Hz), 7.03 (s, 2H), 6.89-7.29 (m, 7H). Exact mass calcd for C15H13FO: 228.0950, observed (M+) 
228.0954. 
(E)-3-Methoxy-3’-methoxystilbene (147). mp 98-99 °C [lit 60 97 °C]. 
(E)-4-Isopropyl-3’-methoxystilbene (148). oil; 1H NMR: δ 1.26 (d, 6H, J = 6.75 Hz), 3.83 (s, 
3H), 6.80 (d, 1H, J =  Hz), 7.06 (d, 1H, J =  Hz), 7.07 (s, 1H),  7.08 (d, 2H, J = 15.09 Hz), 7.21 
(d, 2H, J = 7.75 Hz), 7.26 (t, 1H, J = 7.74 Hz), 7.44 (d, 2H, J = 8.14 Hz). Exact mass calcd for 
C18H20O: 252.1514, observed (M+) 252.1525. 
(Z)-3-Methoxystilbene (149). oil [lit61]. 
(Z)-4-Methoxystilbene (150). oil [lit62]. 
(Z)-4-Methoxy-4’-methoxystilbene (151). oil [lit5]. 
(Z)-2,4-Dimethoxystilbene (152). oil [lit9]. 
(E)-3,5-Dimethoxy-3’-methoxystilbene (153). oil [lit20]. 
(E)-3,4-Dimethoxy-3’-methoxystilbene (154). mp  98-99 °C [lit20 145 °C]; 1H NMR: δ 3.84 (s, 
3H), 3.89 (s, 3H), 3.94 (s, 3H), 6.79 (dd, 1H, J = 8.34, 2.18 Hz), 6.85 (d, 1H, J = 7.94 Hz), 6.94 
(d, 1H, J = 16.68 Hz), 7.02-7.10 (m, 5H), 7.26 (t, 1H, J = 7.75 Hz).  
(E)-2,4-Dimethoxy-3’-methoxystilbene (155). mp 54-55 °C; 1H NMR: δ 3.82 (s, 3H), 3.83 (s, 
3H), 3.86 (s, 3H), 6.46 (d, 1H, J = 2.38 Hz), 6.51 (dd, 1H, J = 8.54, 2.39 Hz), 6.77 (dd, 1H, J = 
7.15, 1.00 Hz), 6.97 (d, 1H, J = 16.48 Hz), 7.04 (d, 1H, J = 2.18 Hz), 7.10 (d, 1H, 8.70 Hz), 7.24 
(t, 1H, J = 7.75 Hz), 7.38 (d, 1H, J = 16.28 Hz), 7.50 (d, 1H, J = 8.54 Hz). Exact mass calcd for 
C17H18O3: 270.1256, observed (M+H) 271.1334. 
(E)-4-Ethoxy-3’-methoxystilbene (156). mp  89-90 °C [lit63 86-87 °C]. 
(E)-3-Methoxy-3’-methylstilbene (157). mp 34°C; 1H NMR: δ 2.35 (s, 3H), 3.81 (s, 3H), 6.79 
(dd, 1H), 7.05 (s, 2H), 7.03-7.09 (m, 3H), 7.24 (t, 1H), 7.25 (t, 1H), 7.29 (d, 1H, J = 5.75 Hz), 
7.31 (s, 1H). Exact mass calcd for C16H16O: 224.1201, observed (M+) 224.1207. 
(Z)-3-Fluorostilbene (158). oil [lit64]. 
(Z)-3-Fluoro-4’-methoxystilbene (159). oil; 1H NMR: δ 3.79 (s, 3H), 6.44 (d, 1H, J = 12.31 Hz), 
6.57 (d, 1H, J = 12.11 Hz), 6.76 (d, 2H, J = 8.74 Hz), 6.81-7.08 (m, 3H), 7.16 (d, 2H, J = 8.94 
Hz), 7.18 (t, 1H). 
(Z)-4-Fluorostilbene (160). oil [lit 65]. 
(E)-2-Methoxy-3’-methoxystilbene (161). mp 58-60 °C [lit 66]. 
(Z)-2-Fluorostilbene (162). oil [lit67]. 
(E)-2,5-Dimethoxy-3’-methoxystilbene (163). mp 57-58°C;  1H NMR: δ 3.82 (s, 3H), 3.84 (s, 
6H), 6.75-6.83 (m, 4H), 7.02 (d, 1H, J = 16.49 Hz), 7.02-7.30 (m, 4H), 7.46 (d, 1H, J = 16.48 
Hz). Exact mass calcd for C17H18O3: 270.1256, observed (M+H) 271.1339. 
(E)-4-Trifluoromethyl-3’-methoxystilbene (164). mp  82-83 °C [lit 68]. 



S23  

(E)-3,4,5-Trimethoxy-3’-methoxystilbene (165). mp 128-129 °C [lit4  123-125 °C]. 
(E)-2,3-Dimethoxy-3’-methoxystilbene (166). oil; 1H NMR: δ 3.85 (s, 6H), 3.87 (s, 3H), 6.82 (m, 
3H), 7.04 (d, 1H, J = 16.08 Hz), 7.06 (d, 1H, J = 7.74 Hz), 7.14 (d, 1H, J = 7.55 Hz), 7.22 (d, 
1H, J = 7.35 Hz), 7.28 (t, 1H, J = 7.54 Hz), 7.43 (d, 1H, J = 16.28 Hz). Exact mass calcd for 
C17H18O3: 270.1256, observed (M+H) 271.1338. 
(E)-1-(3,4-Methylenedioxyphenyl)-2-(4-methoxyphenyl)ethene (167). mp 143-144 °C [lit 70 139-141 
°C]. 
(Z)-1-(3,4-Methylenedioxyphenyl)-2-(3,5-dimethoxyphenyl)ethene (168). oil; 1H NMR: δ 3.67 
(s, 6H), 5.88 (s, 2H), 6.32 (t, 1H, J = 2.18 Hz), 6.42 (s, 1H), 6.43 (s, 1H), 6.44 (s, 1H), 6.45 (s, 
1H), 6.62-6.78 (m, 3H). 
(Z)-2,3-Dimethoxy-2’-bromostilbene (169). mp 89-90 °C [lit6 88-92 °C]. 
(Z)-2,3-Dimethoxy-4’-trifluoromethylstilbene (170). mp 72-74 °C; 1H NMR: δ 3.87 (s, 3H), 3.89 
(s, 3H), 6.84 (d, 1H, J = 8.25 Hz), 6.85 (d, 1H, J = 12.25 Hz), 7.07 (t, 1H, J = 7.75 Hz), 7.53 (d, 
1H, J = 8.25 Hz), 7.60 (d, 2H, J = 7.25 Hz), 7.62 (d, 2H, J = 7.25 Hz). 
(Z)-4-Methoxy-3’-bromostilbene (171). oil; 1H NMR: δ 3.74 (s, 3H), 6.37 (d, 1H, J = 12.31 Hz), 
6.54 (d, 1H, J = 12.11 Hz), 6.73 (d, 2H, J = 8.74 Hz), 7.04 (t, 1H, J = 7.72 Hz), 7.27 (d, 1H), 
7.15 (m, 3H), 7.40 (s, 1H). Exact mass calcd for C15H13BrO: 288.0150, observed (M+) 288.0156. 
(Z)-4-Methoxy-4’-bromostilbene (172). oil [lit 71]. 
(Z)-4-Trifluoromethylstilbene (173). oil [lit5]. 
(Z)-2,3,4-Trimethoxy-2’-bromostilbene (174). mp 78-79 °C [lit72]. 
(E)-2,6-Dimethoxy-2’-bromostilbene (175). mp  88-90 °C; 1H NMR: δ 3.91 (s, 6H), 6.59 (d, 2H, 
J = 8.34 Hz), 7.06 (t, 1H, J = 7.75 Hz), 7.17 (t, 1H, J = 8.34 Hz), 7.28 (t, 1H, J = 7.94 Hz), 7.39 
(d, 1H, J = 16.48 Hz), 7.55 (d, 1H, J = 7.94 Hz), 7.72 (d, 1H, J = 7.94 Hz), 7.95 (d, 1H, J = 16.48 
Hz). Exact mass calcd for C16H15BrO2: 318.0255, observed (M+H) 319.0331. 
(Z)-2-Trifluoromethylstilbene (176). oil [lit57]. 
(Z)-2-Trifluoromethyl-4’-methoxystilbene (177). oil [lit29] 
(E)-4-Methoxy-3’-nitrostilbene (178). mp  92-93 °C [lit62 87.5-89 °C]. 
(E)-4-Methoxy-4’-nitrostilbene (179). mp 131-132 °C [lit14 133-134 °C]. 
(E)-2-Trifluoromethyl-3’-methoxystilbene (180). oil [lit 29]. 
(E)-3-Nitrostilbene (181). mp 110-111 °C [lit73 102-105 °C]. 
(E)-4-Nitrostilbene (182). mp 156-157 °C [lit74 156-157 °C]. 
(E)-4-Methyl-3’-nitrostilbene (183). mp  98-99 °C [lit75 99-100 °C]. 
(E)-4-Methyl-4’-nitrostilbene (184). mp 147-148 °C [lit14 150 °C]. 
(E)-2,6-Dichloro-4’-methylstilbene (185). mp  69-70 °C; 1H NMR: δ 2.36 (s, 3H), 7.04 (d, 1H, J 
= 16.49 Hz), 7.06 (t, 1H, J = 7.75 Hz), 7.11 (s, 1H), 7.18 (d, 2H, J = 7.55 Hz), 7.32 (d, 2H, J = 
8.14 Hz), 7.43 (d, 2H, J = 7.75 Hz). Exact mass calcd for C15H12Cl2: 262.0316, observed (M+) 
262.0311. 
(E)-4-Methyl-2’-nitrostilbene (186). mp 29-30 °C [lit27 31 °C]. 



S24  

 
References 

1. Heynekamp, J.L.; Weber, W.M.; Hunsaker, L.A.; Gonzales, A.M.; Orlando, R.A.; Deck, 
L.M.; Vander Jagt, D.L. Substituted trans stilbenes, including analogues of the natural 
product resveratrol, inhibit the human tumor necrosis factor alpha-induced activation of 
transcription factor nuclear factor kappaB. J. Med. Chem. 2006, 49, 7182-7189. 

2. Chhor, R.B.; Singh, K.A.; Nosse, B.; Tandon, V.K. A convenient one-pot completely 
stereoselective synthesis of trans-4-hydroxystilbene and its derivatives and X-ray 
structure of its precursor. Synth. Commun. 2003, 33, 2519-2530. 

3. Lubczyk, V.; Bachmann, H.; Gust, R. Antiestrogenically active 1,1,2-tris(4-
hydroxyphenyl)alkenes without basic side chain: Synthesis and biological activity. J. 
Med. Chem. 2003, 46, 1484-1491. 

4. Cushman M.; Nagarathnam, D.; Gopal, D.; Chakraborti, A.K.; Lin, C.M.; Hamel, E. 
Synthesis and evaluation of stilbene and dihydrostilbene derivatives as potential 
anticancer agents that inhibit tubulin polymerization. J. Med. Chem. 1991, 34, 2579-
2588. 

5. Bellucci, G.; Chiappe, C.; Lo Moro, G. Crown ether catalyzed stereospecific synthesis of 
Z- and E- stilbenes by Wittig reaction in a solid-liquid two phase system. Tetrahedron 
Lett. 1996, 37, 4225-4228.  

6. Harrowven, D.C.; Guy, I.L.; Howell, M.; Packham, G. The synthesis of a combrestatin 
A-4 based library and discovery of new co-operative ortho-effects in Wittig reactions 
leading to (Z)-stilbenes. Synlett 2006, 18, 2977-2980. 

7. Hinz, W.; Jones, A.; Anderson, T. Pyrrole studies: 34. Synthesis of 1,2-di(2-
pyrrolyl)ethenes and related compounds. Synthesis 1986, 8, 620-623. 

8. Nonoyama, N.; Oshima, H; Shoda, C.; Suzuki, H. The reaction of peroxynitrite with 
organic molecules bearing a biologically important functionality. Bull. Chem. Soc. Japan 
2001, 74, 2385-2395. 

9. Ali, M.A.; Kondo, K.; Tsuda, Y. Synthesis and nematocidal activity of hydroxystilbenes. 
Chem. Pharm. Bull. 1992, 40, 1130-1136. 

10. Haroutounian, S.A.; Katzenellenbogen, J.A. Hydroxystilbazoles and 
hydroxyphenanthrenes: Photocyclization and fluorescence studies. Photochem. 
Photobiol. 1988, 47, 503-516. 

11. Lion, C.J.; Matthews, C.S.; Stevens, M.F.G.; Westwell, A.D. Synthesis, antitumor 
evaluation and apoptosis inducing activity of hydroxylated (E)-stilbenes. J. Med. Chem. 
2005, 48, 1292-1295. 

12. Tsukamoto, M.; Schlosser, M. Ylide modeling as the key to a cis-selective synthesis of 
stilbenes. Synlett 1990, 10, 605-608. 

13. Inoue, A.; Shinokubo, H.; Oshima, K. Oxidative Heck type reaction involving cleavage 
of a carbon phosphorous bond of arylphosphonic acids. J. Am. Chem. Soc. 2003, 125, 
1484-1485. 

14. Dubois, J.E.; Ruasse, M.F. Mechanism of the dual path additions in stilbene bromination: 
Evidence of multiple substituent effects for carbonium ion intermediates. J. Org. Chem. 
1973, 38, 493-499. 

15. Tewari, R.S.; Kumar, N.; Kendurkar, P.S. Generation and reactions of some 
dimethylbenzyl phosphonate carbanions: Synthesis of trans-diaryl substituted ethylenes. 
J. Chem. Engineering Data 1976, 21, 125-131. 



S25  

16. Matsunaga, N.; Kaku, T.; Itoh, F.; Tanaka, T.; Hara, T.; Miki, H.; Iwasaki, M.; Aono, T. 
C1720-Lyase inhibitors 1. Structure based de novo design and SAR study of C17, 20-
Lyase inhibitors. Bioorg. Med. Chem. 2004, 12, 2251-2273. 

17. Molho, D.; Coillard, J. New methods of preparation of derivatives of stilbenes. Bull. Soc. 
Chim. Fr. 1956, 78-93. 

18. Kumar V.; Sharma, A.; Sharma, A.; Sinha, A. Remarkable synergism in methylimidazole 
promoted decarboxylation of substituted cinnamic acid derivatives in basic water medium 
under microwave irradiation; a clean synthesis of hydroxylated (E)-stilbenes. 
Tetrahedron, 2007, 63, 7640-7646. 

19. Zhang, W.; Go, M.L. Quinone reductase induction activity of methoxylated analogues.  
European J. Med. Chem. 2007, 42, 841-850. 

20. Velder, J.; Ritter, S. Lex, J.; Schmaltz, H-G. A simple access to biologically important 
trans stilbenes via Ru-catalyzed cross metathesis. Synthesis 2006, 2, 273-278. 

21. Irngartinger, H.; Stadler, B. Synthesis, structures and topochemistry of 2-monovinyl 
substituted 14-benzoquinones. European J. Org. Chem. 1998, 4, 605-626. 

22. Katritzky, A.; Cheng, D.; Li, J. Benzotriazole mediated stereoselective olefination of 
carboxylic esters: Transformation of alpha-amino acid esters into chiral allylamines. J. 
Org. Chem. 1998, 63, 3438-3444. 

23. Chu, L-T.; Yu, P-C.; Wu, B-J.; Liao, Y-C.; Chou, C-H. Synthesis of areno[e]indenes by 
flash vacuum pyrolysis of 4-methoxystyryl arenas. Heterocycles 2007, 71, 165-173. 

24. Seus, E.J.; Wilson, C.V. New synthesis of stilbene and heterocyclic stilbene analogs. J. 
Org. Chem. 1961, 5243. 

25. Meyer, H.R. Distyrylbenzenes containing sulfo groups. Ger. Offen. DE 2525679, Jan. 2, 
1976; Chem. Abstr. 1976, 84, 123421. 

26. Mallory, F.B.; Mallory, C.W. Photocyclization of stilbenes.VII. An unusual fluorine atom 
rearrangement in photocyclization of 1-fluoro[5]helicenes. J. Org. Chem. 1983, 48, 526-
532. 

27. Younes, S.; Tchani, G.; Baziard-Mouysset, G.; Sigliani, J.L.; Payard, M.; Bonnafous, R.; 
Tisnes-Versailles, J. Synthesis and calcium antagonistic activity of diethylstyrylbenzyl 
phosphonates. European J. Med. Chem. 1994, 29, 87-93.  

28. Warner, P.; Sutherand, R. Electron demand in the transition state of the cyclopropylidene 
to allene ring opening. J. Org. Chem. 1992, 57, 6294-6300. 

29. Fuchibe, K.; Mitomi, K.; Akiyama, T. Low-valent Niobium-mediated synthesis of 
indenes: Intramolecular coupling reaction of CF3 group with alkene C-H bond. Chem. 
Lett. 2007, 36, 24-25. 

30. Burkow, I.C.; Sydnes, L.K.; Ubeda, D.C.N. Ultrasound-mediated synthesis and mass 
spectrometric fragmentation of dimethyl-substituted 1,2-diphenylethanols convenient 
dimethylstilbene precursors. Acta Chem. Scand. 1987, B41, 235-244. 

31. Lakin, I.I.; Borodina, L.P. Reactions of halometal alcoholates. XXX. Synthesis of 
stilbenes and 1,4-diaryl-1,3-butadienes. Zhurnal Organicheskoi Khimii 1970, 6, 472-474. 

32. Young, W.R.; Haller, I.; Aviram, A. Mesomorphism in the 4,4’-dialkoxy-trans-stilbenes. 
Molecular Crystals and Liquid Crystals 1972, 15, 311-327. 

33. Hwang, J.; Lin, R-L.; Shieh, R-L.; Jwo, J-J. Study of the Wittig reaction of 
benzyltriphenylphosphonium salt and benzaldehyde via ylide-mediated phase transfer 
catalysis. Substituent and solvent effects. J. Mol. Catal. A: Chem. 1999, 142, 125-139. 

34. Fu, Y.; Li, H.; Hu, W. Small molecular chromogenic sensors for mercury: a strong push-



S26  

pull system exists after binding. J. Org. Chem. 2007, 15, 2459-2463. 
35. Sasaki, M. Electrophotographic recording material and stilbene derivative for use in it. 

Ger. Offen 1984, DE3342724. 
36. Cushman, M.; Nagarathnam, D.; Gopal, D.; He, H-M; Lin, C.M.; Hamel, E. Synthesis 

and evaluation of analogues of (Z)-1-(4-methoxyphenyl)-2-(3,4,5-
trimethoxyphenyl)ethane as potential cytotoxic and antimetotic agents. J. Med. Chem. 
1992, 35, 2293-2306.    

37. Drefahl, G.; Plotner, G.; Winnefeld, K. Investigations on stilbenes XLII. 4-
Vinylstyrylarenes. Chem. Ber. 1961, 94, 2002-2010. 

38. Nagel, D.L.; Kupper, R.; Antonson, K.; Wallcave, L. Synthesis of alkyl-substituted 
benzo[c]phenanthrenes and chrysenes by photocylization. J. Org. Chem. 1977, 42, 3626-
3628.  

39. Aun, C.E.; Clarkson, T.J.; Happer, D.A.R. Substituent effects in the 13CNMR chemical 
shifts of styrenes. J. Chem. Soc. Perkin Trans 2 1990, 645-649. 

40. Siegrist, A.E.; Meyer, H.R.; Gassmann P.; Moss, S. Anil-Syntheses. Helv. Chim. Acta 
1980, 63, 1311-1334. 

41. Grasa, G.A.; Singh, R.; Stevens, L.D., Nolan, S.P. Catalytic activity of PdII/DAB-R 
systems for the Heck arylation of olefins. J. Organomet. Chem. 2003, 687, 269-279. 

42. Givens, R.S.; Oettle, F.W. Mechanistic studies in organic photochemistry VI. 
Photodecarboxylation of benzyl esters. J. Org. Chem. 1972, 37, 4325-4334. 

43. Syz, M.; Zollinger, H. Spectra and basicity of pure trans configurations of substituted 4-
dimethylaminostilbenes. Helvetica Chimica Acta 1965, 48, 517-523. 

44. Schneider, M.R.; von Angere, E.; Schonenberger, H.; Michel, R.; Fortmeyer, H.P. 1,1,2-
Triphenylbut-1-enes: Relationship between structure estradiol receptor affinity and 
mammary tumor inhibiting properties. J. Med. Chem. 1982, 25, 1070-1077. 

45. Molander, G.A.; Yun, C. Cross coupling reactions of primary alkylboronic acids with 
aryl triflates and aryl halides. Tetrahedron 2002, 58, 1465-1470. 

46. Napolitano, E.; Giannone, E.; Fiaschi, R.; Marsili, A. Influence of alkoxyalkyl 
substituents in the regioselective lithiation of the benzene ring. J. Org. Chem. 1983, 48, 
3653-3657. 

47. Mayer, K.K.; Prior, S.; Wiegrebe, W. Electron impact induced cleacvage of the stilbene 
double bond. Part I. Synthesis of stilbenes with ortho C-2 side chains and their deuterium 
analogs. Monatshefte fuer Chemie 1986, 117, 511-532. 

48. Olah G.; Narang, S.C.; Garcia-Luna, A. Synthetic methods and reactions: 88. Sulfuryl 
chloride fluoride a convenient reagent for the preparation of amides from carboxylic 
acids and primary amines under mild conditions. Synthesis 1980, 8, 661-662. 

49. Lee, C.K.; Yu, J.S.; Ji, Y.R. Determination of aromaticity indices of thiophene and furan 
by nuclear magnetic resonance spectroscopic analysis of their anilides. J. Heterocyclic 
Chem. 2002, 39, 1219-1227. 

50. Anstead, G.M.; Peterson, C.S.; Pinney, K.G.; Wilson, S.R.; Katzenellenbogen, J.A. 
Torsionally and hydrophobically modified 2,3-diarylindenes as estrogen receptor ligands. 
J. Med. Chem. 1990, 33, 2726-2734. 

51. Inaba, S.; Rieke, R.D. Metallic nickel mediated synthesis of benzylic, allylic, vinylic and 
pentaflurophenyl halides with acid halides. J. Org. Chem. 1985, 50, 1373-1381. 

52. Kim, S-H.; Rieke, R.D. Benzylic manganese halides sulfonates and phosphates: 
preparation, coupling reactions and applications in organic synthesis. J. Org. Chem. 



S27  

2000, 65, 2322-2330. 
53. Houlihan, W.J.; Parrino, V.A.; Uike, Y. Lithiation of N-(2-alkylphenyl)alkanamides and 

related compounds. A modified Madelung indole syntheses. J. Org. Chem. 1981, 46, 
4511-4515. 

54. Haridasan, V.K.; Ajayaghosh, A.; Pillai, V.N.R. Polymer-bound mixed carboxylic 
dithiocarbamic anhydrides. A new class of selective and recyclable solid-phase acylating 
reagents. J. Org. Chem. 1987, 52, 2662-2665. 

55. Jenkins, S.S.; Buck, J.S.; Bigelow, L.A. The reduction of p-dimethylaminobenzil. J. Am. 
Chem. Soc. 1930, 52, 4495-4499.  

56. Gust, R.; Schoeneberger, H. Third generation antitumor platinum II complexes of the [1-
fluoro/difluorophenyl)-2-phenylethylenediamine]platinum II type. Arch. Pharm. 1995, 
328, 595-603. 

57. Evindar, G.; Batey, R.A. Parallel synthesis of a library of benzoxazoles and 
benzothiazoles using ligand-accelerated copper catalyzed cylizations of ortho-
halobenzanilides. J. Org. Chem. 2006, 71, 1802-1808. 

58. Heck, R.F. Arylation, methylation and carboxyalkylation of olefins by group VIII metal 
derivatives. J. Am. Chem. Soc. 1968, 90, 5518-5526. 

59. Siegrist, A.; Liechti, P.; Meyer, H.R.; Weber, K. Anil synthesis III. Preparation of styryl 
derivatives from methyl substituted carbocyclic aromatic compounds. Helv. Chim. Acta 
1969, 52, 2521-2554. 

60. Khurana, J.; Maikap, G.C.; Mehta, S. Reductive coupling of geminal dichlorides by iron 
II oxalate duhydrate. Synthesis 1990, 8, 731-732. 

61. Roberts, J.C.; Pinock, J.A. The photochemical addition of 2,2,2-trifluoroethanol to 
methoxy-substituted stilbenes. J. Org. Chem. 2004, 69, 4279-4282. 

62. Wang, Z.; Wnuk, S.F. Application of vinyl tris(trimethylsilyl)germanes in Pd-catalyzed 
couplings. J. Org. Chem. 2005, 70, 3281-3284. 

63. Hashimoto, T.; Suzuki, H.; Motoo, T.; Yoshinori, A. Chemosystematics of bryophytes. 
Part 44. Bis(bibenzyl)ethers from Pellia endiviifolia. Phytochemistry 1991, 30, 1523-
1530. 

64. Yamataka, H.; Nagareda, K.; Ando, K.; Hanafusa, T. Relative reactivity and 
stereoselectivity in the Wittig reactions of substituted benzaldehydes with 
benzylidenetriphenylphosphorane. J. Org. Chem. 1992, 57, 2865-2869. 

65. Djakovitch, L.; Koehler, K. Heck reaction catalyzed by Pd-modified zeolites.  J. Am. 
Chem. Soc. 2001, 123, 5990-5999. 

66. Suga, T. Preparation of hydroxystilbenes as pine nematode pesticide. Ger. Offen. 
DE4303346, Aug. 12, 1993; Chem. Abstr. 1993, 225679. 

67. Dunne, E.C.; Coyne, E.J.; Crowley, P.B.; Gilheany, D.G. Cooperative ortho effects on 
the Wittig reaction. Interpretation of stereoselectivity in the reaction of ortho-halo-
substituted benzaldehydes and benzylidenetriphenylphosphoranes. Tetrahedron Lett. 
2002, 43, 2449-2453. 

68. Hilt, G.; Hengst, C. A concise synthesis of substituted stilbene and styrenes from 
propargylic phosphonium salts by a cobalt-catalyzed Diels-Alder/Wittig olefination 
reaction sequence. J. Org. Chem. 2007, 72, 7337-7342. 

69. de Medina, P.; Casper, R.; Savouret, J.; Poirot, M. Synthesis and biological properties of 
new stilbene derivatives of resveratrol as new selective aryl hydrocarbon modulators. J. 
Med. Chem. 2005, 48, 287-291. 



S28  

70. Aslam, S.N.; Stevenson, P.C.; Phythian, S.J.; Veitch, N.C. Synthesis of cicerfuran an 
antifungal benzofuran and some related analogues. Tetrahedron 2006, 62, 4214-4226. 

71. Linde, C.; Koliai, N.; Norrby, P-O, Akermark, B. Experimental evidence for multiple 
oxidation pathways in the salen(Mn)catalyzed epoxidation of alkenes. Chem. A Eur. J. 
2002, 8, 2568-2573. 

72. Harrowven, DC.; Pascoe, D.D.; Guy, I.L. Thermally induced cyclobutenone 
rearrangements and domino reactions. Angewandte Chemie Int. Ed. 2007, 46, 425-428. 

73. Wan, P.; Davis, M.J.; Teo, M. Photoaddition of water and alcohols to 3-nitrostyrenes. 
Structure-reactivity and solvent effects. J. Org. Chem. 1989, 54, 1354-1359. 

74. Ohta, A.; Tonomura, Y.; Odashima, H.; Fujiwara, N.; Shimazaki, M. Efficient olefin 
synthesis using pyrazinylsulfinyl group. Heterocycles 1989, 29, 1199-1207. 

75. Kendurkar, P.S.; Tewari, R.S. Studies on ylides. Formation and reactions of ortho- and 
meta- nitrobenzylidenetriphenylarsenanes. J. Organomet. Chem. 1975, 85, 173-178. 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


